R - 2017/5/9 R HH OEX
IR g BRI E AR T P PO &
B R E e LIS A WE %
TfEEIRA [ R B RS BRI Bt 47
Af+ #&R 1 2h 3hr 0 5AL 6AL ThE 8L
[ Loom 2R B w10.60 (+5.6) [ AF FiE w10.70 (+5.6) [\ & wl0.73 (+5.6) [ B8 EK w10.84 (+5.6) |EA AR w1101 (+5.6) (119 BEA w11.02 (+5.6) [hi#h KE w11.04 (+5.6) [/ BE w11.10 (+5.6)
EERE RET KA E3E) KA =& REXF N
sA9H 200m g & 21.75 (+1.6) | &3} 21.87 (+16) |88 B 22.08 (+1.6) | AF F15E 2221 (+1.6)|EA KA 2251 (+1.6) [k 427 2256 (+1.6)|=fE &R 22.58 (+1.6) |frili &I 22.82 (+1.6)
KM EETE KM RMAL KA REAAF =l N
SATH 100m W+ BIK 5L17(PAE HE 5159t X 52.03|5AM Bt 52.15[=mE &R 52.32| %Il f&X 5291| iR RN 52.98| KR % 54.27
R ZH&E +EETHRE +H T RE Z&H il i
siion g00m B K 1:56.90 %% %8 1:56.97| )11 15 1:59.70|#5  #sk 2:00.66 1Rk BAF 2:00.70[teFH  FEIK 2:01.27 [#3  fre 2:0422|=% B 2:05.12
N Z&H =4 REKXF it +BETHRE FRRERT =%
SATH 1500m BE K2 401.70|#F 8 YK 4:02.98|BH X 4:03.12|fEBE HRA 4:0358|/\i1 E 4:12.18|1RiE R 4:12.73|B800 18 4:14.08|3#R 1& 4:14.10
=% =% =% i =L i N Nt
5H9H 5000m FE KR 14:45.62 |18 F 8 K 14:46.77|EH K 14:53.01 |8 L& 14:57.17 |48 RA 15:06.82|/Mifl  FiA 15:40.55|/Mi BB 16:47.22|RE 15:48.23
=% #NAME? | =5 =% i i e +BE REH
SHTH Lomh kil &R wi15.24 (+2.1) |fE#E 3R w16.17 (+2.1) |tk 22 w16.20 (+2.1) [FHEH  fE3R wi16.27 (+2.1) (M8 i wi16.28 (+2.1)|+H w16.35 (+2.1) [{TH  K— w1638 (+2.1) |FE R= w16.90 (+2.1)
N +HHT RMAT NifB Z&=E R + Ry L))
. 200mH Al 5t 56.17 (1L #EXE 56.51 (Al &R 58.19(/\ih % 1:00.03| =& @k 1:00.37 /W11 K— 1:01.08|B X 1:04.41
EES S RigmkE N REAT +aE NEET
sisn | s000msc KB HER 9:46.49F8 £ 9:52.23[ =% Yl 9:58.30 (481 o 10:04.08( 25 4L 10:10.44 10:11.80 7% Ffs 10:14.13[1LE % 10:15.06
i R +HET =% REXF =% RHE
sa9m | s000mw 23:16.40 (85 5THR 25:07.23 [l =R 25:16.77[#L WA 25:27.96( K% 26:48.32 27:51.14 58 3R 28:00.25|¢F H% 30:04.26
it REmkE N i REmE Z&=H
N 43.53 [/ 43.94(+RET 43.98| =% 44.10( =48 44.19 44.62 | R 46.81
EHOEK Al RE FE AR tH BB At+E EBEA HH EA
5ATH 4x100mR |ggH KA Foh E= A KiE FeH MM TR BXK g #
HE FR il #E O EA pusl =) BH O EX ZH
ik 857 il 5 KE EE b it =H IR BAR BAMH
Z&E 3:25.74 |+ HHET 3:26.29| K@ 3:26.64|/\iig 3:27.10[ =% 3:27.53 3:28.96|+HETHE 3:31.93 3:36.10
fFiE MR KE BEIR wRE EH EHOEKX BN EAH RH# #HC HBE X b
5A9H 4x400mR |PAH HE EIL = thig & FH B B EA 58 HL TR kFL f@E &
BE 5t Al 1838 BAR A &k 8 ¥ B il BE e B B RT
)l &K KEH EE WH BIR LR R FeH B HE EE B KB kG EES
sA8H " wmE EA 1.94[EAR &= 192(ME = 1.85|&1E 1 1.85|®1E A 175\ BH% 1L70|BE & 170|# L BE 1.70
REM 7N HET N N =% S REH RH
sA8H - B #KF 415\ Fhki AR 410|122 R# 4.10[EK #E 400|R& A0is 3.90|#H K& 3.60
+ BT JNB T +BE#HE + BT EBR ISR + R
sHTH - AtEH BA 710 (+2.0)[3#L£ Bz 6.53 (0.0)|&3# 6.40 (-0.4)[HFR K% 6.38 (-1.2) [KE EE 6.27 (+0.2)|[®=1&  AR3T 6.27 (+13)|3kt &HH 6.23 (+0.D)|5H =N w6.16 (+3.6)
=& R =& REXF =L EESS REE R mE
5H9H : ek R KE 1352 (+0.8) | A+ BA 1348 (-0.5) |t &HH 1339 (+0.9)| TH & 1323 (+0.4) |84 FLi# 13.09 (+1.0) | @18 AR 12.90 (+1.9) | =B #E& w1252 (+2.6)|'5H 3k 1250 (+0.8)
REXF =] KA REXF rav=li) Z&HE + BT N
5H8H A [SEi 16.08[ LA #HA 12.57|FIER  EHE 1172l K 10.44| EH BA 1012|750 #ak 9.99|K% it 9.96|7 A =W 9.92
KM GR|#EREL KM 2ARE EMT Rk KM +Bfy
5A9H gy [OE ] 49.14|1i0 tHA 40.33| %35 #AH 33.72( KR BA 31.03|#E Bt 30.91|8RIR & 30.76|=iE @2} 30.24|&=ME 1834 30.01
KA GR|{#&ERET ZEE =&m| =&m| HRERM WHE EES S
SATH o (O] 5457(#% 3L 47.48[ILH EHE 43730 fGEAES 42.63|HF 41.49|4CF it 37.24| LA #HA 35.15(# E4£ 32.14
KA GR| N\ N KA N KA BIRET REmME
sA7H ongr fhig BN 50.72(fEH =T 47.33| AR BRI 47.30|HEF B 47.22|EE KA 47.05|=1 @3} 46.44 |1l A 46.43| /K FEE 45.89
S ML (3 RMAL 7 BT L3 INFE 1R
s/1~s/s | s FH e 459117 @2 4249 |1l BA 4116|@E #®t 3814|ZH M 3668| B REA 3571|184 #A 3537|/NEB EK 3535
N RFE E B IER Z&HE RE® ~E ~E RET
5HTH 100m 11.52 (-1.4) 11.93 (-1.4) 11.99 (-1.4) 12.05 (-1.4) 11.90 (-1.4) 12.21 (-1.4) 12.66 (-1.4) 12.07 (-1.4)
5H7H SRR 6.07 (-0.1) 5.82 (-1.2) 5.97 (0.3) 5.58 (-1.9) 5.47 (3.0) 5.56 (-1.4) 5.38 (-1.5) 5.66 (-2.0)
5HTH FatLr 9.97 9.63 8.75 7.59 8.20 7.05 8.38 7.17
5H7H 400m 52.89 54.27 56.33 56.09 51.61 55.49 57.79 55.47
55181 110mH 17.33 (-3.7) 20.02 (-3.7) 18.33 (=3.7) 18.17 (=3.7) 20.72 (-3.7) 20.96 (-3.7) 20.89 (-3.7) 22.07 (-3.7)
5HSH R0HE 33.75 39.18 39.67 33.63 31.23 28.38 36.10 35.08
5H8H ek 1.70 1.65 1.65 1.55 1.50 1.55 1.55 1.65
55181 1500m 4:55.72 4:42.82 5:12.14 5:12.14 5:05.59 4:53.33 4:56.67 5:28.30




v | snsh L00m 2 AW wi2.32 (+4.1) |53 &40 w1258 (+4.1)|iEk e w1261 (+4.1) |l #isk wi12.75 (+4.1) Bl FRAE wi2.78 (+4.1)|3E T4 F wi2.84 (+4.1) (&2 i w1298 (+4.1) |BF K wi13.01 (+4.1)
i =&F REKXF REKXF i ~+HET N REAKXF
sHom 200m PE NS 25.94 (+1.5) | A et 26.25 (+1.5) |53  #din 26.44 (+15)|=iE AP 26.45 (+1.5)|[tk4 Ak BE 26.74 (+1.5) A+ HhaH 26.82 (+1.5) |4 7 26.83 (+1.5)
REAKXF i =£H i =% N +HET
- 100m K BT 59.08( LAt et 1:01.37 |4k BE 1:01.67|iE:8 T4 1:02.66 | &i5 B 1:02.93|/h8 1&A 1:03.49| &3 —% 1:04.40
REXF Rt =% ;| E3E) FREM &HE
sH9E 00m KB MER 2:15.43(1hE  iEE 2:22.48|/NBRL Ak 2:2541|FHF ® 2:2870| il &< B 2:30.18|3kRE = 2:30.61| 2% = 2:31.25|5%HF Y 2:36.65
REAAF KM N TR REAAF =% 7B ET =%
i 1500m KB HMER 4:4593587% 4:4741|HE B 4:48.98|hE  TEH 4:59.88|&iE &Y 5:01.31|# ZEF 5:03.85| KE E 5:06.36| /N ik 5:10.81
REKXF +HET +HET RE® WhFH +HET N N:]
. 2000m W ® 10:06.73|FH 297 10:16.38(&1E V&£V 10:27.35( )11 &< 10:56.69 (kiR K 10:57.64[1LiE B 11:09.78| 2R %2 11:12.59| 545 #& 11:17.66
+ BT + BT NFH &M N:| JNA T =% + R
sATH L00mH g s w1457 (+3.0)[#0 FE w1458 (+3.0)|HE X4 F w15.28 (+3.0)|HF  H7H wi15.29 (+3.0)[E#E @& w1578 (+3.0)|2H mME w15.97 (+3.0)[@E BHEF w1597 (+3.0) |[fc#E #A w16.44 (+3.0)
A +HET +HET N =% N RAKXF +HEr
sHSH 200mH 2HF 2% 1:06.99| %% mMFE 1:07.00|#1& *4F 1:.07.01|FE#E BETF 1:07.48| 818 F& 1:08.60|EiE HEEE 1:09.05 | #fE  3#TE 1:09.75
&M =% +HET REKXF N ~E =%
sirn | so0omw EH i 25:4053( 2% 5% 28:25.56[ Ik EHT 29:06.04[1 £V A 29:06.19 (8  Hik 30:16.07|HH %% 31:03.43
REKXF EBRIER N KA N:| SB
REAF 49.61 | chi 50.34|+ H &7 51.06[=% 51.79 [/ 52.30( N\ 52.44 (=% 52.85| < HET 52.89
Ful sk BH AT hET B W Tt W R Bi% KE BX R e FP
5ATH 4x100mR |FEEHF HE & [T E RLTF k4 BE e THE 7 KR SH M TR M
B KX ELa:s B0 #%7 TH HBEE g 2R Bis B2 &F T
kR ZE BY W RE B BE Hep Hld EF MF 0 g
REAF 4:01.22| K 4:07.91| =% 4:09.35 | e 4:10.99| N\ 4:13.75(+ B ET 4:17.84 X B ET 4:19.51 [/t 4:21.19
E¥ B5F wis Wi ik @R AtE B BiE K& e =2 KFH ELDH R e
5A9H 4x400mR |o)iE MR s fEs fEeR BE TGS 2% ME W HE 28 EKx Kix &
RS FE EE TH O ABRE AN B Bis B T2 E#X iz AN -]
Sul Ak BE hE WfE I B3 FRE ) HE LT EX INBE K
RE B 145|BH  BA 145\ R # 1.35[ffil #AEE 1.35|#% R 1.35
snon | e [ il EAAF ERmE i
=M ®2 1.35
JNA T
- bk EEH HE& w5.54 (+3.1) |4 495 (+04) (2% HE 492 (+06)|&F F& 4.86 (0.0)|&2 ki 4.85 (+1.9)| BT EE 478 (+1LD|E+E B 477 (+1.9) O Bx 476 (+1.4)
REAKXF REKXF =45 + B i =&=H
sH9H - ek ERH AL 11.97 (+1.2) 10.83 (+1.8)|EH BE 10.60 (+1.0)|&H# HFE w10.47 (+2.7) 10.30 (+1.2) |8 *i#2 10.28 (+1.2) (3£ @7 10.08 (+1.8) [ =t 10.06 (+0.9)
REKXF REKAF +HERE N =& RH
sHSH " me 2 1138|458 &1 10.34|B8 wE 9.84|FE  FRks 9.55| =R EE 8.85|1L  HE 877wk B 857|tka A #E 7.82
+ BT Eia] NiE NiE + BT R + R RER
sH9E mae | R 35.19|HE TE 30.95|2% WEE 2890|111l HE 28272 b 26.70| 2% & 25.06| =R EE 24578 &L 24.05
N +HET N KM N N +HE KA
sash | ootz il $E 4224|228 BE 41.96| KR 29.03[4LR @ 2552(TH =i 2121(B wE 19.10(5R =¥ 16.29
REM N S REM S N REH
SHTH oo me 2 4230(&R 850 3161|ET #HE 31.24|2H HF 30.76(&F F#F 30.23(fE & 26.69[8RIR Tk 23.26|2F HED 22.48
+ B 7 hE JNEEY NiE Z&=E NFATE +HEHRE EERE
s/s~s/0 | crse BE #Ex 3556 (FE IHiE 3392|#ER =2 2797BX FK 2529|2= M0 2272
=&m| REKXF 7<H BT ZEE KA
5H8H 100mH 16.92 (-2.1) 17.93 (-2.1) 17.85 (-2.1) 19.07 (-2.1) 19.12 (-2.1)
5H8H Ak 1.45 1.35 1.45 1.15 1.20
5H8H Tt 7.20 8.80 6.94 6.05 6.14
5H8H 200m 27.92 (+1.3) 28.09 (+1.3) 30.30 (+1.3) 29.43 (+1.3) 29.88 (+1.3)
5H9H ElEE 4.60 (+1.6) 4.36 (0.0) 3.85 (+1.6) 4.51 (0.0) 3.89 (+0.7)
5H9H R0 27.10 21.65 18.02 19.20 12.68
5H9H 800m 2:44.44 2:33.65 2:55.40 2:58.75 2:59.16
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